























level of the smaller signal. When the input signal
of 0.35 V corresponds to p2, the small signal ¢ must
be — 34dB on 25 mV, or 0.5 mV, but when the
small signal corresponds to g2 it need only be— 8.5 dB
on 25 mV or 9.4mV, to prevent 2nd I.M. occurring
under these conditions.

Conclusion

The main requirement of an aerial amplifier and
its associated distribution network is that it should
operate with the minimum of attention and to all

intents and purposzs should be as reliable as the
proverbial ¢‘ piece of wire.”” Freedom from cross-
modulation not only minimizes interference but
ensures that secrecy is maintained in the trans-
mission of messages from the ship. No aerial dis-
tribution system can be considered satisfactory if
passengers’ radio telephone calls are to be heard
on every station on the cabin receivers !

The wide-band amplifier that has been developed
has necessarily been a compromise, but experience
has already indicated that it is meeting all require-
ments.
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